= =
Y. N L E= 4 = A =

NEA - TRENKZ (E0E) BEETE No. 1
I & - # H iR Ui = RETHE | B4 | B
5998 - 1- 1 EE{E
<Yk -I-MEEET >
U -1-MASET

WEak N T2 AR 2744.4+3941.7%2 10627.8 10628 | m2
AN TZ A% [t=15mm 2744.4+3941.7%2 10627.8 10628 | m2

ER 5w RS HEE T — o bR A E 10627.8 10628 | m2 ZEERE

30.0kg/m2 (318. 8t)

<RIV EIHEI>
AGUMNBERET

Fs KPE2IBIETG D 7 A ~A 7 VoK [140.3+146.1+144.9+136.4+139.4+180.5+186.3+202.5+99. 1 1375.5 1376 | m2

Bt (HERE R AE) )% 5 L b

RUFI

FEE B 2 18-8-40BB 4.0 4 | fEAT
AU TBEERIERET

AR A 18-8-40BB 1.0 N

Db L UZr b, ftHE Feia 1.0 1| =X

Wrim s T R~—F A NE/LHZ L 1.0 1| =X




A £ §SI =) 3 F =
AE% : TRENS (20EH) BEHEIE No. 2
I i B s ] 2 REtHE | B | &
<#EHEPBEI>
BEMEELT
)Y - MEEY BEEL W& B 82.0m3/ (& AT X 466 FT + 242 > RAffEL. Tm3 9.7 10| m3
EHAE R O e BIFRD LI 52.3 52 m
S LIE T
e e 7Y —h Bt BR 45 2. 0m3 /£ T X 414 T + A% L A 1. Tm3 + Wi ifi 618 1.0. 1m3 9.8 10| m3
X NTEFIA - Tl 10627.8 % 24kg/m2487E 1000 255.1 255 t
WAL Ty =7 —h EHS 9.8 10| m3 BEER
) WANTESS NS 255.1 255 t 200
<fRE&I>
TERAERT
BEktk 22X1524X 3048, & filE  |EHXELD 826.8 827 | m2
REEET
A E s S B 1.0 1| =X
i g
<ERFHEL>
AEBARBRET
eI ABNINGARG T, 1.0 L 4T
& ES B E % ) E3




AE%  TREKS (Z20E) BEETE

No. 3

I # - # B iR g = REtHE | B | &
<EHmREREI>

M

TV AR AyVay—F  [ImmA»T =, H1100 (124.9+199.3+202.7) *1.1 579.6 580 | m2




2 ) — B R
1% 24y
T & G =X HAT | % & I
Bk BLE (1.00+4.35+1.80+0.15)%4=29.2
AliEED)WT
AN HE  (0.85+0.65)+(0.85+1.00)%6+(0.85+3.30)+(0.85+2.30)%2=23.05
At 29.2+23.05=52.25 m 52.3
PEE B Rt 1 HEntEE
LEE AT 40
T f& H X HOL %% & I
oy 7Y—hk  1.95%1.0=1.95 m3 2.0
18-8-40BB
Tl (0.30%6+0.15)%1.00+0.35%0.15%6=2.27 m2 2.3
A4 5.6%0.9=5.04 m2 5.0
$ 5-100%100
2= 1.0%15=15.00
D13
15.0%0.995,/1000=0.015 t 0.02
27 —MHIFL fL 15
H bz 2.0 m2 2.0
t=10




AH U RARE Bt E
1% 24y
T & G =X HAT | % & I
av27U—k  0.07+0.11%6+0.36+0.25%2=1.59 m3 1.6
18-8-40BB
Hi 0.13%(0.65+1.00%6+3.30+2.30%2)=1.89 m2 1.9
TEREA T 0.41+0.68%6+2.40+1.65%2=10.19 m2 10.2
¢ 5-100%100
7= (0.65%3) + (1.00%3) %6+ (0.85%13) + (0.85%9) %2 =46.30
D13
46.3%0.995/1000=0.046 t 0.05
ayy)—MHIFL | 3+3%6+13+9%2=52.0 i 52
F it 0.85%0.13%10=1.11 m2 1.1
t=10
WrmiE1E T HEntEE
Y 240
T f& H X HOL %% & I
Fyw—tahEALL | 0.108+0.0054+0.0624+0.0075+0.0588+0.117+0.0399=0.3990
0.3990/4 2% . K =0.0998 m3 0.100

(0.0998+1000kg* . #1.80=179.6kg)




OUEIRARE (FEIH T) AR

TS 240
T & G =X HAT | % & I
FEIEAS [HiFE0.00009m 2R AL Fe4.35m =0.0004m3
TARFRE
0.0004%1000kg* Lt i 1.56=0.62 kg 0.6
Bk i Mot
100m2 49
T f& H X HOL %% & I

DL=32.5m, H=1.3m

@L=34.3m, H=1.3m

@L=33.5m, H=1.3m

@L=46.5m, H=0.7m

(®L=46.5m, H=0.7m

(32.5+34.3+33.5) 1.3+ (46.5%2%0.7) =195.49

195.49/1375.5%100=14.21 m2 14.2




